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))  Thedimensions of a rectangle are 7 osatimeters
b
24 centimeters, Find, In centimeters, the length ofrh
diagonal of this rectangle. ‘
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{0351 =it
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__2)  Find,in simplest radical
ofnqumw:\z:uidem : SHiiiges
4S-4S-90 D
N
N [2E]
3) Triangle ABC is a right triangle with legs that measure

7and 8. The length of the hypotenuse is

A) 9
P <X
2.,9°% <
6 9e+3 =C
4 |fthe hypotenuse of a right triangle measures gand
one leg measures 5, then the other leg measures
45!&1-’ oNE
B) {13 D) \&9
L_gl
%+ 5 =%
-} What is the fength of the altitude of an equilateral
wriangle whose side has length 47
A) 2 4.
B) 4 3 .
v =4
3 L Fik .
__6 Which set of dGmbers may represent the lengths of
the sides of %&r’mgb’l
A) (458} O {5510}
D) (7810
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In a right triangle, the length of the 1o

2 more than the length of t er leg. The length

of the hypotenus 3s than twice the length of
#Find the lengths of the sides of the
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10)

Ifsin (x +20°) =cos X, then the value of x is

A) 10 35
B) 55

X420 +X =90

12 Ifcos (2

z><—H3><+Lo =GO

— 1D

- 1)° =sin (3 +6)°, then the value ofxis

) N
D) 35

Sx+$ =49Q
5 X = 25
X = 1T 2%
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14)

15)

Which value of x satisfies the equation sin (3x +5)° =
cos (4 +1)°*?

C) M

B) 30 D) 4

25+ 5 + Hxr\ = QO
Mx+ =G0

What is the degree measure ofan acute angle 8 if
sin 20° =cos 07

O=70

Joe is holding his kite string 3 feet above the ground,
as shown in the accompanying diagram, The distance
between his hand and a point direotly under the kite is

95 feet.
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Ifthe angle of elevation to the kite is 50°, find the
height, 4, of his kite, to the nearest foot.
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16)  Which equation oould be used to find the measure of

one acute angle in the right triangle shown below?
A
5
—
c 4 B
4
A) tnA=] Q unb=g

D) cos B-%

___ 179 Which equation shows a correct trigonometric ratio
forangle 4 in the right triangle below?

B
17 ¢cm
8cm ®
—
c 15 cm A

15 . 15
A) tanA--s- 0 smA=-l—7

[8)  In AABC,the measure of 2B =90° ,AC =50, 48 =48,
and BC = 14. What ratio represents the tangent

8
D) tanA--ﬁ

of £LA?
48 48
A) 55 : O 1w
14 14
B) 13 D) &

mn 50
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in the right triangle below, what is the value ofX to the

o 19 pearest whole number?
e
X
N 30° I
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A communications company is building a30-foot
antenna to carry cell phone transmissions. As shown
in the diagram below, a 50-foot wire from the top of
the antenna to the ground is used to stabilize the

_M

antenna.
/ Wire
G Antenna 50 ft
30t
&
Ground

the measure of the angle

Find, to the nearest degree,
ground. [Show all work.)

ftothonedi=s — =
that the wire makes with the

sne=22 5 6=3T°
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As shown in the acco
fromthe top of the lighthouse

d sion of the ship

base of the lighthouse.

ship at sea is sighted fro

m.l.md

A stake is to be driven into the ground sway from the
base ofa 50-foot pole, as shown In the diagram below.
A wire from the stake on the ground to the top of the
pole ls to be Installed at an angle of elevation of 52°.

21)
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Wire y

50 ft

go0 \J Stake

e U

X
How far away fromthe base of the pole should

the stake be driven in, 0 the nearest foot? [Show
all work.)

(a)

¢ wire fromthe stake

What will be the length of'th
st foot? [Show

to the top of the pole, to the neare
allwork.)
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Xtans2 =80
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mthe top of a 60-foot lighthouse. If the angle of

find, to the nearest foot, how far the ship is fromthe
bbbt dlhordabct

measures 15°,
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23. A flagpole Is at the top of a building. 400 ft from the base of the bullding, the angle of elevation of the .
top of the pole Is 22° and the angle of elevation of the bottom of the pale is 20°, Determine the length of

the flagpole (to the nearest footf);_
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24. A firefighter on the ground sees the fire break through a window. The angle of elevation to the
windowsill is 32°, The angle of elevation to the tap of the building is 40°. If the firefighter is 72 ft from the
building, what Is the distance from the roof to the window sill?

Dran32L = 4449 1t
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. Rabbit 4 and rabbit 8 are situng 36 leet apart,
Between them is their home (rabbit hole C) beneath a
bamboo tree. From point 4, the angle of elevation of
the top of the tree is 52°, and {rom point B the angle of
elevation of the top of the tree is 48°. Find, 10 the
nearest tenth of a foot, the height of the tree.
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